Months and Years

1. Clock A is quarter past 5; Clock Bis 11 o'clock
2. quarterto 4

4. Jennifer is incorrect. She has confused the hour hand and the minute hand. The hour
hand is at 3 and the minute handis at 12. It is 3 o'clock.

5. Hamish is incorrect. Because it is half past, the hour hand should be pointing halfway
between 7 and 8.

6. Various answers, for example: two quarter turns would give the time quarter to 3; a
quarter turn and a half turn would give 3 o'clock; two half turns would give quarter past 3.
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